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Quiz 8§
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You did not answer the question.
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Question 2
You did not answer the question.
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Question 3
You did not answer the question.
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Calculate the tnwegra

d

9¢'
P

> & e, (2 =e” .
He-Semre T = gdu_

x4 U

am:e“dx
i (e

:akavi(%_> T




a araan{e') + ¢
¢) e -
Question 5

ou did not answer the guestion,
Calculute the mitegral;
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Question 6

You did not answer the question,
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You did not answer the question., Question 11

Caleulate the miegeal ‘ou did not answer the question.
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Question 10

You did not answer the question,

Question 12
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Quustion 13
You did not answer the question.

Culculite the given integyad
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You did not answer the guestion.

Calculate the given iniegra



; v, 00
2o - \‘") .
¢)

Question 26

You did not answer the question.

Calculate the given integral l
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